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ST 2 | HRTHT S AT e 250 . Wit 27§ | Weldoh I % fer

W T HA AN Ted I it |

Q.6. Distinguish between job coasting and contract coasting.  [3]
I arTa Fraier oy aen S awra frefor fafa & ofat saRTl

Q.7. 'What do you understand by 'absolute ton kms' and ’Commerc:lal ton

k7 3)
Ty o7 Reciiex’ aon  aifriae: = Rriier ST I TEaE?
Q8.  What is meant by Equivalent Production? 131
T SR © 1 AW § ? |
Q9.  Differentiate between By-Product and Joint-Product. 3]

SY-IIE ALl 9IS SR A 3 Fagg |
Q.10.  Give journal entries for the following lmder Integral System of
Accounting. [3]
| _@ﬁ%@w@#wﬁaﬁwﬁlﬁaﬁﬁﬁﬁamﬂﬁm
@ _Purchase of material.on ¢redit Rs. 2,00,000
(®) - Issue of material toproduction Rs_; 1,65,000
Part-B (Comfaulsary)

-8 A )
Q.11.  From the following information calculate ) 51
@  EOQQ *
(b) No of order per year
©) Time between consecutive orders.
) Annual consumption | 800 units -
(i) Cost per unit Rs. 30
(ii1) Cost of placing ax/'n”order |
(iv) Annual return od investment 10%
: per annum -
(vi) Rent and insurance €Xpenses Rs.1 -
per year
forer Al § T4 IS

(3 anféier e A=

(9) Wi STl %l wem

() 2 AR ST & Wed Wi STt |
(i)  aNEEW 800 T
Gi) T EEE %50
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(iii) ‘@mﬁ?%%aﬁaﬁqﬂ %100

(iv) it hivd T 10%
(v) e e & g %1
© Q.12. What is meant by overtime? Discuss its treatment in cost
accounting. : [5]
ferara Q w1 v & 2 A A A SO Qe i e
wHifsa |
Q.13.  The production cost of 1,000 units of an article is as follows:
| 5]
Materials Rs. 12,000
Wages ) Rs. 8000

Overheads (fixed and variable) Rs. 6,000
The company produces 8,000 units and selis at Rs. 25 each,
making -a profit of Rs. 20,000. Find guf amount of fixed and

variable overheads respectively.
T % I 1,000 SHITA F STRACIT FF-ITIR &:

AAfEa F. 12,000
a7 : ¥. 8,000
SIRET ¥. 6,000

mﬁs,omwﬁmmm%afmsamﬁmm%
ﬁﬂﬁﬁﬁaaﬁ%mw,oooamm&@nq&uﬁaﬁﬂﬁa

/

IfteEl =1 A T I FiTe |

Q.14. Prepare' nérmal wastage and abnormal wastage/ effective a/c

o ~ fromthe following : . 5]

friafeRad & G & T STEI &7 T T TR
Transfer from process'T 1,000 units @ 9 per unit
Material used in this process ] ~ Rs. 13,000
Labout ~ Rs.3,750
Overhead (Factory) | Rs. 1,500
Actual output 920 units
Normal loss 10% of input, sold at rs. 2.50 per unit as scrap.

Q.15. Adcity municipality arranges for the removal of its garbage by
means of motor vehicle transport. The following vehicles are
maintained. .
wmﬁm@—mm%ﬁqmmﬁ
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, Arrfsa‘tmw@r faaor
40 527 T
50 , 4 =T
20 3 el
20 2 A M

on an average each lorry makes 4 trips a day and each trip covers an
average distance of 20 km. Each lorry carries garbage weighing enly
60% of its capacity. 10% of the lorries are laid up for repairs every
day. Assuming that a month consists of 30 days. Calculate total ton
km for a month.

mﬁiﬂeﬂW4wsrﬁlﬁ=rmﬁ%ammwﬁ sftaa 20
At =t <0 79 =t 8 | TE AR ST &THAL SR 60% 2 hl o St
| Sia fafe 10% AR g ¥ W @@ | 98 wEa g fr e
30 i = 3, % & foau Fa =7 i3 S |

Part-C/ YPI-dH

Unit-I/ g1 - *

Q.16.  Explain the various metheds of pricing the issue of material with
suitable examples. - [15]
ﬁﬁ%m%maﬁﬁﬁmﬁmﬁmmﬁm
g HHHAIRT |

OR (319127 )

Q.16.  During orie Week the workman Z manufactured 200 units, He received
wages'for.a/guaranteed 44 hours week at the rate of Rs. 15 per hour.
The time allowed to produce one unit is 18 minutes. Calculate his
gross wages under each of the following methods of remunerating
labour. [15]
Afeh SIS 1 Tk TR H 200 THEA T | G RS I 44 692
TR % fo1T 15 % Wi ST 1 S 99gl WiE ®H | TH THE BT F

~ forw 18 firve =1 vy i <t @ 1 g = niftafys 3 9 frafafas
faftli 9 § g & iaria STt Tohel Wil 919 HHWT)
@) Timerate |
® Price rate with guaranteedweekly wages
© Halsey premium plan 50% Bonus
(d Rowan premium Plan -
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' Unit-IV 311

Q17. A factory can produce 2,40,000 units per annum at 100% capacity.
The cost of production is estimated as follows: [15]
T I 100% 71 T 2,40,000 FehTaT 1 Hfrare Seare ol Gehell ¢ | ST
ARTA 1 11 WhR STAT <771 ST @
Direct material Rs. 6 per unit
Direct Labour Rs. 4 pee unit (Subject to a minimum of Rs. 48,000
per month) , ’
Fixed overheads Rs. 3,20,000 per annum

Variable overheads Rs. 4 per unit
Semi variable overhead Rs. 1,20,000 p.a. up to 50% capacity and an

additional Rs. 40,000 p.a. for every 20% increaseé\in capacity or a

part there of. o
Scrap resulted from each unit is sold at40paisa. In 2015 the factory

worked at 50% capacity for the first.3 menths but it is expected to

work at 80% capacity for the remaining 9 months.
The selling price per unit was-Rs, 24 during the first 3 months. What
price should be fixed fop4he remaining 9 months to yield 2 total

profit of Rs. 4,36,000.
T 3RS § TH SeRTs @1 40 T2 ¥ fegm A omr e 1 99 2015 %

o A e S R 50% & W w e, dfE smen @i St
% fop 9w 9 TERLHLA 80% &1 R I HUT |
. mem A AR R e 24 %, YR TS o1 A 9 W % feg
ﬁmmﬁuﬁammﬁwms,ooommﬁmu
" OR(.39ar) ' -
Giving your view regarding justification in charging profit on

Q.17.

{ “\complete contract, explain the methods of charging profit on
incomplete contract. [15]
a@féﬁﬂmmmﬁ?aﬁﬁaﬁmﬂﬁ 31T TR yahe T
TL a@%ﬁammwmﬁﬂﬁfiﬁmaﬁaﬁml

Unit-IN/ 3ehe-1I0
Q.18.  Explainnormal wastage, abnormal wastage and abnormal effective.
[15]

How should these be dealt with in process accounts?
T &1, Wmamwmﬁmum@a’fﬁ

=3 Ty & SR frn s g ?
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Q.18.

Lo ul
'] |
' A Y

| OR( 31¥1ar )
The net profit of Balaji Limited shown by cost accounts for the year
ended 31* Dec 2015 was Rs. 6,70,000. A security of the figures of
the financial accounts and the coast account revealed of thefollowing
facts: .. [15]
31 TSy, 2015 1 T €1 9 943 A Sl X S [aies W

YIS @M 6,70,000 faman | faxita oral 9 arm.arE) 1 St 9 e ae

A ;.

6 Works overheads over - absorbédincost 20,000
accounts ?

@i1) Administration overheads under - 15,000 -
absorbed in cost accounts

(iii) Depreciation abserbed in cost accounts 1,70,000

(iv) Depreciation eharged in financial 2,00,000
accounts ' ‘

\2) Loss dué.to bbsolescence charged in 10,000
financiahaccounts '

(vi) Titerest on investments included 20,000
in-financial accounts only :

(vii) . “Bank interest (Cr.) 4,000

(viii)) Under - evaluation of opening stock in 2,000
cost accounts

Prepare a statement showing reconciliation between the figure of
net profit as per cost accounts and figure of net profit to be calculated
for the financial accounts as per reconciliation. .

forder T TR F0 AT Qe g R T g e o R
Srai gr e e T | fire @m@-ﬁml -
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